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QUESTION 1

You can generate and manage work order exceptions in Oracle Manufacturing Cloud. Which users can report
production exception and who gets notified after an exception is raised?

A. The Production Operator can report and exception and the application generates a notification that is
sent to all users who have access to the manufacturing plant.

B. The Production Operator can report an exception and the application generates a notification that is sent to all users
with the role of production supervisor who have access to the manufacturing plant.

C. The Production Operator or Manufacturing Engineer can report an exception and notifies the production supervisor
using Oracle Social Network since there is no system generated natification.

D. The Production Operator can report an exception and notifies the production supervisor using Oracle Social Network
since there is no system-generated notification.

Correct Answer: B

QUESTION 2

You are in the process of defining a Standard Operation for visual inspection. You want the completion of this standard
operation to be reported in all work orders that reference it. Identify the setup that will fulfill this requirement.

A. Select the Automatically Transact check box while defining the Standard Operation.
B. Deselect the Count Point check box while defining the Standard Operation.

C. Select the Count Point check box while defining the Standard Operation.

D. Ensure that the Charge Type of the resource is Automatic.

Correct Answer: C

QUESTION 3

An order entry specialist creates a Back-to-Back order for product item with an intention of fulfilling by in-
house manufacturing. The fulfillment line is scheduled and Supply Chain Orchestration (SCO) has initiated
creation of a Supply Order rather than Work Order.

Identify two options that can cause this situation.

A. Sourcing rules for the product item are defined as Make as well as Transfer.

B. Sourcing rule for the product item is defined as Make, but Work Definition is not defined.

C. Sourcing rules for the product item are defined as Buy as well as Transfer.
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D. Sourcing rule for the product item is defined as Buy.

Correct Answer: AB

QUESTION 4

In your customer\\'s manufacturing facility, different types of Movement Requests are created. Key manufacturing
components are issued to the work orders form the manufacturing subinventory. The manufacturing subinventory
receives its supplies form the Warehouse subinventory through automatically created Movement Requests. Which type
of Movement Requests should you use to fill the manufacturing subinventory form the Warehouse subinventory?

A. Batch Wave Movement Requests

B. Pick Wave Movement Requests

C. Replenishment Requests

D. Requisition Movement Requests

Correct Answer: D

QUESTION 5

In a manufacturing plant, the work definition and rate plans of Material, Resource, and Overhead of an assembly have
been defined as required. A cost accountant created different scenarios to represent different manufacturing and cost
assumptions and compare the results. When the cost assumptions are finalized, the cost accountant is expected to
publish the cost scenario to cost accounting. Identify three process steps that the cost accountant has to perform to
transfer the assembly to cost accounting in frozen type.

A. Publish cost planning scenario to Accounting.

B. Build cost planning scenario and perform cost roll up.

C. Create Accounting Distributions.

D. Transfer transactions from production to Costing.

E. Define a cost planning scenario with Material, Resource, Overhead cost plans, and work definition.

F. Transfer Transactions from Inventory to Costing.

Correct Answer: CEF
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